
 

KAWASAKI ZX - 300 
2013-2017 

Part Nr. 646 
 

 

8300 

M6 x 10 DIN7380 

M8 x 25 DIN7991 
8420 

M6 x 20 DIN7380 

 

813 LA 
814 RA 

between 646 

and 8300 Ø22 x 
tl.9 

 

889 

M8 x 60 DIN6921 

807 

M8 x 60 DIN6921 

807 

M6 x 45 DIN7380 
 M6 DIN985 

 
 

M6 x 45 DIN7380 

817 + Ø 12 x tl.20 

M6 DIN985 

 
 

M6 x 25 DIN7380 
816L + M6 DIN985 

JOINT FROM INSIDE! 
 

8291 

M6 x 30 DIN6921 

M6 DIN985 

M6 x 25 DIN7380 

816R + M6 DIN985 
 

BRAKE HOSE  20°/ 640mm / 20° 818.150mm 

810R 

M6 x 25 DIN7991 
 

between 889 and 

814RA Ø12 x tl.9 

 


